110 # 32 (x5 4

SR LY T) FRT LN

110 & &7+ 7

M Y ok I

mE R A

B2 EXE 1
— ~g® =1
# ()i w 2 3 ExrBE& ~ b | AR 1
Fﬁv’ ok h AR A
FERBE R EEER
Iﬁil“ﬁﬂ%‘?’%ﬁ#?
o ¥R S
BpmENEH T i
PR Bk A
BB R TR AN
FTANF LSRN o
(‘)ﬁ 5 25 PRz dg [ (2)F 7 25 p st dg | BT R AT ABITE
EITE AN P BRI | QNBTFIE o B 5w e | &b B TR 4R Line ¥
Llne%at,f-E B AT R | AV LRATAN 200 2 | BT M L H
BV LEFT AW 200 A E | EAE S o 2 .5 E F,;ii’a—ﬁi X2 P AN TR RATETR
EALE 7 ESLFMA | I T o 3 FH B LineE e o
FI T M LER | E 20 D2 E 0 D
2P RN | 2T IhE B LARPAE
Line¥#ke » 22437324 | % -
§F LB S
£ (Z)F 45 LineE 2 - | A2 1

e (W st r) #
AT LA S 7 AT
FRIYMLEZERY

1& @;%IPHFT vy TR
(2)* kR FAEHEY R | £ 1k BLATH
PEEA? B B 2R EA R R B s
AYTERE O VHEGE L o OWEABRER B A
¥ e 8o Al FREEE A

fT5 AERAIFTIER o

- ~® %
—)EFARTEE Y | FERTES BT EA (BT WLV AT
FEREEW DS LRIFENR | £E2W 5 F2 20 AR F S =) S I o
dp x5 1,000 g u_&%fma SRR D 5.2 K
a‘i; ° 2, P g’v_«i\ o1 % § 2
()5 Fh % v ﬁ,aymﬁ@1oaﬂz
FE S 5 LRI | 40 5 pw o Bty
icE 2 ¥ 1000 A | ERL1P~3% ;72 5P
o ook E AR 47 ~6




110 # 3 % i 4

(2)1 % 5 p@ > st
£R 107~12% ;4% 5
poano sty £ 10 ~3
A

7 1 5 El '3" ’ ./u;’L

FERT1~97 o

#FRB 47"~ 7 ;10 % 5
oRPFERT 9

& E

(- )&RAEET F2 50
>R RS i‘éﬁ
e E AL FHX
ﬁ;:;?—é 25 b oo ;]%t}ﬂ

pREET 5 LriE 80

P PR Ry O I J

g

1.4 BLATH o
2.3 B % 7% ﬁ%% A
Hp 3 Ao TR S TR ;-;‘— u/z]; #

e
AL ©°




110 # 3 7 ipax &

110 & #7750 7 ﬁlﬂ-‘ﬁiﬁw“ 13’-‘,"_‘15\']"']5({%%; Faal #ﬁ"

d Xt B AR BAF 0 LB RSE

R EE o Bk iR A p A

ENE Al o B e S TRy b A8

ii*:/?riﬁﬂ*sa °

(‘ﬁBZSBi#$$*%ﬁn b @ IR iR Line¥E e 5 55
B e T AT SR 200 AR EME A LS FHAFIT
Ty M L H AN 2 p A NIRRT LineE e 28T

44

=

Ik E K LA %@*°
(2 )%k 4515 Line 3 e - 248 (#ﬂ?#{i Bher ) FRETITE L
R *% LAY T e 11

(2 ) B Sy R T ;“—ba‘i,‘“_ﬂ\f‘:}l&/w\*‘ri}?:%'ﬁ » T AR
I I N = WE AR

&%

(-)FFnres  HrrBE w5 L EEFGE 2% 1,000
SApE o

(Z)F Far8 % Hrra ke 5 CRFEAERAE 2 %S 1,000
A ¥ o

(Z)1 " 5p# » A mER 107 ~127 ;47 5% » At d&2m 1
138 ;7R 5pan s BEERLAN~60 ;100 5p a0 st
FERTP~97 o

NS 3
(- )EmRAEET S 250 2R FERE o R T B
FHEIBEE DAY e R EE S5 L2 E 80Tt
B R R LR EEF 3F A Nl A LB A

o

<z
nd



110 # 37 (R4

i- BFERRY BRFF o4 (100 £ 58K 5Y)

B TR B

p 2

- AP
(kg)

TR g
(kg)

bR bR M

3
A
i Iy
@ | ¥

A
=

2 O
i

(kg)

¥ |3

= R

g
ey

+FERE 3
Line ¥ &

O=_

o

FrH R

g

b
>

5=

g
o

1%

A%
AR

T~

AR g Ko

Tih g TR B




£ A
39 R
K3
110

‘)
3 ' &
ﬁ#;‘:U%‘ i34

: %

! _’?4#

ﬁl/"ﬁi

%a._ i 4 -;E-;E’F‘

% & :
% 2
kR E p
SRR DN
* A
’ iL;ieﬁg%i.f‘eﬁ
| TRV L L
LR M o B P - <
: | : . o¥ oFf
2 - 0% oO%
< = 0% oO%F
2 - 0% oO%
2 = 0% oO%F
2 - 0% oO%
2 = 0% oO%F
: - 0% oO%F
2 - o&%_ O%
Kg -
Kg

& B
i X AT R
kB
%:ij;l‘

i\‘:ﬁ

2 H

/7‘3';{!% FI

.:}’fé’

R

=




